Unit 1 Lesson 7

Name(s) Period Date

Activity Guide - App Exploration

In this activity, you'll decide how a computer (in this case, a smartphone)
can use different types of information to solve a problem. You'll need to
figure out which inputs the computer should use to get the necessary
information, and whether or not the information should be stored for later.

Next, you’ll decide how the information should be processed, using sorting,
matching, or counting, and use that method to find what the computer
should output. Once you've figured out how the app should work, you'll
have a chance to think of some improvements.

Ring Silencer App
Define
This app solves the problem of the user’s phone ringing in class. It figures out when the phone is at a school and turns

off the ringer. It turns the ringer back on when the user leaves school.

What type of output should the app produce? TuenS the phone r'm3gr on 1 o€

Prepare
Fill out the following table with information that the app needs and whether you will find the information from a phone
sensor or the Internet. Decide whether you want to store the information for later.

Information Where will you find the information? Store for later?
¢ Phone Sensor (GPS) No
You are here
{ Totevnet Yes
Edison Middle School
City High School *
Third Street Elementary




Choose the type of processing you will use, and explain how it will help you get your output.

Sorting / Matching / Counting
Match the user location with the locations o€ the Schools, and i€ it wmatches, tuvn the vingev o€¥.

I theve's not a watch, tuvn the vinoex on.

Try
Use the method you created above to process the information.

What is the output? Tuen the vinaer o€

Reflect

This app turns off the ringer even when the user is not in class. An advanced version would only turn off the ringer at
school when the user is quiet and not moving. If the user is moving around or making a lot of noise, it would assume
that it is not class time and keep the ringer on.

How would you change your app to solve this new problem?
I could al%o use the wicvophone and only tuvn it o€ when it 6 auiet, and vse the accelevometer Yo kee

the vi %ev on £ T am woVing_avound.
LAl W\ 'G V\% LAl

Where would it find the new information that it needed?

It would use the phone SensSovs, like the accelevometer and the wicvophone




Name(s) Period Date

Activity Guide - App I/O

Movie Recommendation Challenge

Define
This app addresses the problem of not knowing what movies to watch. Look through the
information available to you, and decide what will help to choose a movie for the user.

What type of output should the app produce? a woVie nawe

Prepare
Fill out the following table with information that the app needs and whether you will find the information from a phone
sensor, the Internet, or user input. Decide whether you want to store the information for later.

Information Where will you find the information? Store for later?

Movie Reviews: Tntevnet Yes
Since Then: 4/5 "Hilarious!"
Mills: 5/5 "Even better than the book!"
The Wait: 2/5 "Boring and predictable.”
Cargo: 3/5 "Exciting, but not much more."
The Watch 2: 3/5 "If you loved the first
one, you'll want to see this."

User’s Favorite Movies: User ngut Nes
The Watch (Action)
Further (Mystery)

The Last Night (Drama)

User’s Favorite Books: User input Nes
Whistler (Mystery)
Mills (Drama)

Movie Showings: Tantevrnet No

Central Cinemas:
e Since Then (PG - Comedy)
e Mills (R - Drama)
e The Wait (PG - Mystery)
e Cargo (Action)

Midtown 15:
e The Watch 2 (PG - Action)
e Since Then (PG - Comedy)
e Mills (R - Drama)

Tatevrnet Yes

Central Cinemas 4
Midtown 15




Choose the type(s) of processing you will use, and explain how it will help you get your output.

Sorting / Matching / Counting

T will give wovie gownts. IT€ a wovie has a 9ood veview, then it 39_'\-9 wove gonts. Then T will wmatch
The tyges of Looks and wiovies T alveady like with the wovies available and ajve goints i theve is a
watch. AlSo, T will match the wiovies that ave on the mag close to wme and give goints Sor being

closer. Then T will Soct wy wovie 1ist by number o€ goints and 5Uqgest the Yo wovies.

Try

Use the method you created above to process the information.
What is the output? Mills

Reflect

Compare your method, and the inputs it needed, to another group’s method.
What is one advantage of the other group’s method?

They looked at i€ T liked the book the wovie was based on and also i€ it's a sequel Yo one T like

How might you combine your ideas to make a better app?

T think we Should keep wiy pownts dea, but alse awve the wovie extva points £ it's a Seaquel Yo Somethin

I like or i€ it's based on a book that T like




